

On Finsler Spaces with Unified Main Scalar (LC) of the Form

$$L^2C^2 = f(y) + g(x)$$

T.N.Pandey, V.K.Chaubey and Arunima Mishra

Department of Mathematics and Statistics, D. D. U. Gorakhpur University, Gorakhpur (U.P.)-273009, India

E-mail: tnp1952@gmail.com, vkcoct@gmail.com

Abstract: In the year 1979, M. Matsumoto was studying Finsler spaces with vanishing T-tensor and come to know that for such Finsler spaces L^2C^2 is a function of x only. Later on in the year 1980, Matsumoto with Numata concluded that the condition $L^2C^2 = f(x)$ is not sufficient for vanishing of T-tensor. F. Ikeda in the year 1984, studied Finsler spaces whose L^2C^2 is function of x in detail. In the present paper we shall discuss a Finsler space for which L^2C^2 is a function of x and y ($y^i = \dot{x}^i$) in the form $L^2C^2 = f(y) + g(x)$.

Key Words: Unified main scalar, Berwald space, Landsberg space, T-tensor, C-Reducible Finsler space, Two-dimensional Finsler space.

AMS(2010): 53B40, 53C60

§1. Introduction

In the paper [7] it has been shown that if a Finsler space satisfies the T-condition, then the unified Main Scalar L^2C^2 of the Finsler space M^n is reduced to the function of the position only (i.e. $L^2C^2 = f(x)$), where L is the fundamental function and C^2 is the square of length of the torsion vector C_i . F. Ikeda in the paper [1] has worked out, whether the condition $L^2C^2 = f(x)$ is equivalent to the T-condition or not and considered the properties of such Finsler spaces in detail.

In the present paper, we shall study the T-tensor of such a Finsler space with the condition $L^2C^2 = f(y) + g(x)$. As F. Ikeda in the paper [1], we have also obtained the condition for such a Finsler space ($L^2C^2 = f(y) + g(x)$) to be a Landsberg or Berwald space so that a Landsberg space (resp. Berwald space) satisfying the condition $L^2C^2 = f(y) + g(x)$ reduces to a Berwald space.

The terminology and notation are referred to the Matsumoto's monograph [5].

§2. The Condition $L^2C^2 = f(y) + g(x)$

Let l_i , h_{ij} and C_{ijk} denote the unit vector (i.e. $l_i = \frac{y_i}{L}$), the angular metric tensor and the (h)hv-torsion tensor (the Cartan torsion tensor), respectively. The T-tensor T_{ijkl} is defined by

¹Received November 21, 2011. Accepted February 22, 2012.

[5] [pp. 188, equ. (28.20)] $T_{ijkl} = LC_{ijk}|_l + C_{ijk}l_l + C_{ijl}l_k + C_{ilk}l_j + C_{ljk}l_i$ and the torsion vector C_i is given by $C_i = g^{jk}C_{ijk}$, where the symbol $|_l$ denotes the v-covariant differentiation and g^{jk} is the reciprocal tensor of g_{jk} .

Assume that the function L^2C^2 is a non-zero function of position and direction s.t. $L^2C^2 = f(y) + g(x)$. Differentiation of this equation by y^i yields

$$L^2C^2|_i + 2C^2y_i = f_i \quad (1)$$

where the symbol $|_i$ denotes the differentiation by y^i and $f_i = \frac{\partial f}{\partial y^i}$. Since, $C^2 = g^{ij}C_iC_j$ and $T_{ij}(= g^{kl}T_{ijkl}) = LC_i|_j + C_il_j + C_jl_i$. Since, $C^2 = g^{ij}C_iC_j$, then

$$C^2|_h = 2g^{ij}C_i|_hC_j = 2C^iC_i|_h \quad (2)$$

From (1) and (2), we have

$$2C^2Ll_i + 2L^2C^hC_h|_i = f_i \quad (3)$$

Since $T_{ij} = LC_i|_j + l_iC_j + l_jC_i$

$$C^iT_{ih} = LC^iC_i|_h + C^il_iC_h + C^il_hC_i$$

$$C^iT_{ih} = LC^iC_i|_h + C^2l_h \quad (4)$$

From (4) and (3), we get,

$$2LC^iT_{ih} = f_h \quad (5)$$

Conversely, let $2LC^iT_{ih} = f_h$

$$2LC^i(LC_i|_h + l_iC_h + l_hC_i) = f_h$$

$$2LC^iC_i|_hC^i + 2LC^2l_h = f_h$$

$$(L^2C^2)|_h = f_h$$

Integrating, we get

$$L^2C^2 = f(y) + g(x) \quad (6)$$

where, $g(x)$ is a arbitrary function of x only. Thus, we have,

Theorem 2.1 *If for a n -dimensional Finsler space unified scalar L^2C^2 is of the form $L^2C^2 = f(y) + g(x)$, if and only if the T -tensor satisfies the condition $T_{ij}C^j = \frac{f_i}{2L}$.*

Again, for a two-dimensional Finsler space the T -tensor [4,5,7,8] can be written as

$$T_{hijk} = I_{;2}m_hm_im_jm_k \text{ and } LC_{ijk} = Im_im_jm_k \text{ this implies } LC = I$$

Since, $(L^2C^2)|_i = f_i$, this implies

$$2LC(LC)|_i = f_i$$

Thus, we have

$$T_{hijk} = \frac{f_r m^r}{2LC} m_h m_i m_j m_k$$

Corollary 2.1 *In a two-dimensional Finsler space with the unified scalar $L^2 C^2 (L^2 C^2 = f(y) + g(x))$ satisfies T-condition if and only if f_i is parallel to l_i i.e. $f_i = \lambda l_i$ for some scalar function λ .*

Now, $f_i = \lambda l_i$ Differentiating above equation with respect to y^j , we get

$$\frac{\partial f_i}{\partial y^j} = \frac{\partial \lambda}{\partial y^j} l_i + \lambda L^{-1} (h_{ij})$$

contracting above equation with respect to y^i , we get

$$\frac{\partial f_i}{\partial y^j} y^i = L \frac{\partial \lambda}{\partial y^j}$$

this implies

$$L \frac{\partial \lambda}{\partial y^j} = -f_j \quad [\text{Since } f_i y^i = \frac{\partial f}{\partial y^i} y^i = 0 \implies \frac{\partial (f_i y^i)}{\partial y^j} = \frac{\partial f_i}{\partial y^j} y^i + f_i \delta_j^i]$$

this implies

$$L \frac{\partial \lambda}{\partial y^j} = -f_j = -\lambda l_j$$

Integrating we get

$$\lambda = \frac{h(x)}{L}$$

where, $h(x)$ is any arbitrary function of x . Again,

$$f_i = \frac{h(x)}{L} l_i = h(x) \frac{\partial L}{\partial y^i} \text{ or}$$

$$\frac{\partial f}{\partial y^i} = \frac{h(x)}{h(x)L} \frac{\partial (Lh(x))}{\partial y^i}$$

Integrating above equation, we get

$$f(y) = h(x) \log(Lh(x)) + p(x) \quad (7)$$

where, $p(x)$ is also any arbitrary function of x . From (7), we have

$$L = \frac{1}{h(x)} e^{\frac{f(y)-p(x)}{h(x)}}$$

Thus, we have

Theorem 2.2 *If a two-dimensional Finsler space with $L^2 C^2 = f(y) + g(x)$ satisfies T-condition then the metric function L is given by $L = \frac{1}{h} e^{\frac{f-p}{h}}$, where scalars h and p are arbitrary function of x only.*

In C-reducible Finsler space the T-tensor [5] can be written as,

$$T_{hijk} = \frac{LC^*}{n^2 - 1} \pi_{hijk} (h_{hi} h_{jk}) \quad (8)$$

where, $C^* = g^{ij} C_i|_j$ and π_{hijk} represents cyclic permutation of the indices h,i,j,k. contracting (8) by g^{jk} , we get

$$T_{hi} = \frac{LC^*}{n - 1} h_{hi}$$

this implies

$$f_h = \frac{2L^2 C^*}{n - 1} C_h$$

Thus,

$$f_h C^h = \frac{2L^2 C^2 C^*}{n - 1} \quad (9)$$

Corollary 2.2 *For a n-dimensional C-reducible Finsler space with unified scalar $L^2 C^2 = f(y) + g(x)$ satisfies T-condition if f_i is perpendicular to C^i .*

§3. Landsberg and Berwald Spaces Satisfying Condition $L^2 C^2 = f(y) + g(x)$

Hereafter, assume that a Finsler space M^n satisfies the condition $L^2 C^2 = f(y) + g(x)$. From the equation (1), the important tensors which will be used later are given by,

$$g_{ij} = \frac{f_{ij} - L^2 C^2 |i|_j}{2C^2} - \frac{1}{LC^2} (f_i l_j + f_j l_i) + y l_i l_j \quad (10)$$

$$\begin{aligned} C_{ijk} &= \frac{f_{ijk} - L^2 C^2 |i|_j|_k}{4C^2} + \frac{2}{L} (h_{ij} l_k + h_{jk} l_i + h_{ki} l_j - 3l_i l_j l_k) - \\ &\quad \frac{1}{2LC^2} (f_{ik} l_j + f_{jk} l_i + f_{ij} l_k) + \frac{1}{2L^2 C^2} \pi_{(ijk)} (f_i (h_{jk} - f_{jk})) - \\ &\quad \frac{1}{2L^2 C^2} (f_i l_j l_k + f_j l_i l_k + f_k l_i l_j) - \frac{1}{L^3 C^2} (f_i f_j l_k + f_j f_k l_i + f_k f_i l_j) \end{aligned} \quad (11)$$

$$\begin{aligned} C_{ijk|h} &= \frac{f_{ijk|h} - L^2 C^2 |i|_j|_k|_h}{4C^2} - \frac{C_{|h}^2}{C^2} C_{ijk} - \frac{1}{2LC^2} (f_{ik|h} l_j + \\ &\quad f_{jk|h} l_i + f_{ij|h} l_k) + \frac{1}{2L^2 C^2} \pi_{(ijk)} (f_i |h h_{jk}) - \frac{1}{2L^2 C^2} (f_{ij|h} f_k + \\ &\quad f_{ij} f_k |h + f_{jk|h} f_i + f_{jk} f_i |h + f_{ik|h} f_j + f_{ik} f_j |h) - \frac{1}{2L^2 C^2} (f_i |h l_j l_k + \\ &\quad f_j |h l_i l_k + f_k |h l_i l_j) - \frac{1}{L^3 C^2} (f_i |h f_j l_k + f_i f_j |h l_k + f_j |h f_k l_i + \\ &\quad f_j f_k |h l_i + f_k |h f_i l_j + f_k f_i |h l_j) \end{aligned} \quad (12)$$

Contracting above equation by y^h , we get

$$\begin{aligned}
 P_{ijk} = & \frac{f_{ijk|0} - L^2 C^2 |i|_j |k|_0}{4C^2} - \frac{C_{|0}^2}{C^2} C_{ijk} - \frac{1}{2LC^2} (f_{ik|0} l_j + \\
 & f_{jk|0} l_i + f_{ij|0} l_k) + \frac{1}{2L^2 C^2} \pi_{(ijk)} (f_{i|0} h_{jk}) - \frac{1}{2L^2 C^2} (f_{ij|0} f_k + \\
 & f_{ij} f_{k|0} + f_{jk|0} f_i + f_{jk} f_{i|0} + f_{ik|0} f_j + f_{ik} f_{j|0}) - \frac{1}{2L^2 C^2} (f_{i|0} l_j l_k + \\
 & f_{j|0} l_i l_k + f_{k|0} l_i l_j) - \frac{1}{L^3 C^2} (f_{i|0} f_j l_k + f_i f_{j|0} l_k + f_{j|0} f_k l_i + \\
 & f_j f_{k|0} l_i + f_{k|0} f_i l_j + f_k f_{i|0} l_j)
 \end{aligned} \tag{13}$$

where, P_{ijk} is the (v)hv-torsion tensor, the symbol $|_i$ denotes the h-covariant differentiation and the index '0' means the contraction by y^i .

The above equation (12) (resp. 13) gives the result that the condition $C_{ijk|l} = 0$ (res. $P_{ijk} = 0$) is equivalent to equation (14) (resp. 15).

$$\begin{aligned}
 & \frac{f_{ijk|h} - L^2 C^2 |i|_j |k|_h}{4C^2} - \frac{C_{|h}^2}{C^2} C_{ijk} - \frac{1}{2LC^2} (f_{ik|h} l_j + f_{jk|h} l_i + f_{ij|h} l_k) \\
 & + \frac{1}{2L^2 C^2} \pi_{(ijk)} (f_{i|h} h_{jk}) - \frac{1}{2L^2 C^2} (f_{ij|h} f_k + f_{ij} f_{k|h} + f_{jk|h} f_i + f_{jk} f_{i|h} \\
 & + f_{ik|h} f_j + f_{ik} f_{j|h}) - \frac{1}{2L^2 C^2} (f_{i|h} l_j l_k + f_{j|h} l_i l_k + f_{k|h} l_i l_j) \\
 & - \frac{1}{L^3 C^2} (f_{i|h} f_j l_k + f_i f_{j|h} l_k + f_{j|h} f_k l_i + f_j f_{k|h} l_i + f_{k|h} f_i l_j + f_k f_{i|h} l_j) = 0
 \end{aligned} \tag{14}$$

$$\begin{aligned}
 & \frac{f_{ijk|0} - L^2 C^2 |i|_j |k|_0}{4C^2} - \frac{C_{|0}^2}{C^2} C_{ijk} - \frac{1}{2LC^2} (f_{ik|0} l_j + f_{jk|0} l_i + f_{ij|0} l_k) \\
 & + \frac{1}{2L^2 C^2} \pi_{(ijk)} (f_{i|0} h_{jk}) - \frac{1}{2L^2 C^2} (f_{ij|0} f_k + f_{ij} f_{k|0} + f_{jk|0} f_i \\
 & + f_{jk} f_{i|0} + f_{ik|0} f_j + f_{ik} f_{j|0}) - \frac{1}{2L^2 C^2} (f_{i|0} l_j l_k + f_{j|0} l_i l_k + f_{k|0} l_i l_j) \\
 & - \frac{1}{L^3 C^2} (f_{i|0} f_j l_k + f_i f_{j|0} l_k + f_{j|0} f_k l_i + f_j f_{k|0} l_i + f_{k|0} f_i l_j + f_k f_{i|0} l_j) = 0
 \end{aligned} \tag{15}$$

So, we have

Theorem 3.1 *If an n -dimensional Finsler space M^n satisfies the condition $L^2 C^2 = f(y) + g(x)$, then the necessary and sufficient condition for M^n to be a Berwald space is that equation (14) holds good.*

Theorem 3.2 *If an n -dimensional Finsler space M^n satisfies the condition $L^2 C^2 = f(y) + g(x)$, then the necessary and sufficient condition for M^n to be a Landsberg space is that equation (15) holds good.*

If h-covariant differentiation of f_i is vanishes then the theorem 3 and theorem 4 gives the result that the condition $C_{ijk|h} = 0$ (resp. $P_{ijk} = 0$) is equivalent to $C^2 |i|_j |k|_h = 0$ (resp. $C^2 |i|_j |k|_0 = 0$). So, we have

Corollary 3.1 *If an n -dimensional Finsler space M^n satisfies the condition $L^2C^2 = f(y)+g(x)$, then the necessary and sufficient condition for M^n to be a Berwald space is that $C^2|_i|_j|_k|_h = 0$ holds good.*

Corollary 3.2 *If an n -dimensional Finsler space M^n satisfies the condition $L^2C^2 = f(y)+g(x)$, then the necessary and sufficient condition for M^n to be a Berwald space is that $C^2|_i|_j|_k|_0 = 0$ holds good.*

Acknowledgment

The authors would like to express their sincere gratitude to Prof. B. N. Prasad for their invaluable suggestions and criticisms also. Also author V. K. Chaubey is very much thankful to NBHM-DAE of Government of INDIA for their financial assistance as a Postdoctoral Fellowship.

References

- [1] F.Ikeda, On Finsler spaces satisfying the condition $L^2C^2 = f(x)$, *Analele stintifice*, Vol. XXX, 1984, 31-33.
- [2] G.S.Asanov, New examples of S3-like Finsler spaces, *Rep. on Math. Phys.* Vol. 16(1979), 329-333.
- [3] G.S.Asanov and E. G. Kirnasov, On Finsler spaces satisfying T-condition, *Aequ. Math. Univ. of Waterloo*, Vol. 24(1982), 66-73.
- [4] F.Ikeda, On the tensor T_{ijkl} of Finsler spaces, *Tensor, N. S.* Vol. 33(1979), 203-209.
- [5] M.Matsumoto, *Conditions of Finsler Geometry and Special Finsler Spaces*, Kaiseisha Press, Saikawa, Otsu, Japan, 1986.
- [6] M.Matsumoto and S.Numata, On semi C-reducible Finsler spaces with constant coefficients and C2-like Finsler spaces, *Tensor, N. S.*, Vol. 34(1980), 218-222.
- [7] M.Matsumoto and C.Shibata, On semi-C-reducibility, T-tensor=0 and S4-likeness of Finsler spaces, *J. Math. Kyoto Univ.* Vol. 19(1979), 301-314.
- [8] Z.I.Szabo, Positive definite Finsler spaces satisfying the T-condition are Riemannin, *Tensor, N.S.*, Vol. 35(1981), 247-248.
- [9] S.Watanabe and F.Ikeda, On some properties of Finsler spaces based on the indicatrices, *Publ. Math. Debrecen*, Vol. 28(1981), 129-136.